ENGLISH EXAMINATION FOR EXCELLENT STUDENTS AT DISTOICT LEVEL

SCHOOL YEAR: 2017 – 2018

SUBJECT: PHYSICS IN ENGLISH

GRADE 9
Question 1: Each number on the meter corresponds to…………….
Question 2: Take a wire with a 12Ω resistor on the 3V voltage then the current through it is…………….

Question 3: A copper conductor with a length of 100 m, cross section 2 mm2, resistivity 1.7.10-8 μm. The resistance of the conductor is…………….

Question 4: Resistor R1 = 30( with maximum current resistance of 2A; Resistor R​2 = 10( with maximum current of 1A. The difference between these two resistors is…………….

Question 5: Light up a 220V - 100W bulb on the 220V power supply. The lamp is used for an average of 4 hours in a day. The power consumption of a light bulb in a month (30 days) is…………….

Question 6: Three identical resistors have the same 6 Ω value. When they are parallel, the equivalent resistance is…………….

	Question 7: Hang a needle magnet near the wire as shown. The phenomenon occurs when we close the K key of the circuit is…………….


	



Question 8: Objects that operate on the magnetic effect of a magnet on a conductor whose current flows through it are…………….

Question 9: Electromagnetic force acting on conductors with electric current flowing in the side picture is…………….
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Question 10: The straight line AB leads through the horizontal line, which is perpendicular to the magnetic lines between the poles of the magnet as shown. Electromagnetic force acting on AB conductor dimension:

Question 11:
	Giving the circuit as shown 1. Know: U = 180V;

R1 = 2000(; R2 = 3000(.                                                                                                                                                                                                                                                   
a) When voltmeter with Rv resistance in parallel with R1, voltmeter only U1 = 60V. Determine the current through the resistors R1 and R2.

b) If the voltmeter is in parallel with the R2 resistor, how much voltmeter?


	



Answer:

	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answer 
	 1 Wh


	 4A.  
	8,5 (.           
	40V.            
	12 kWh.


	2(

	The magnet is attracted to the tube.. 

	.  Electric speakers          
	From bottom to top.


	Straight from the outside into the plane of the drawing.


Question 11
	Answer

	a) 



	The current through R​1 is:
     I1 =
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	The current through R2 is:

I2 = 
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	b) 



	First of all we calculate RV:

From the drawing a we have:


I2 = IV + I1 

or:  IV = I2 – I1 = 0,04 - 0,03 = 0,01(A).

	So. RV =
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	We have: UBC = I.RBC = 
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	Change it with numbers we have:  UBC = 90V                                           

So voltmeter shows 90V.


Composer: Luu Van Luyen, Pham Thi Huong - Quang Phuc school.
Tài liệu được chia sẻ bởi Website VnTeach.Com

https://www.vnteach.com
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